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(b} Trace the rise of Sikh power under
Ranjit Singh and give brief account of
Anglo-Sikh relation during the rule of
the East India Company.

o i Toge Py =fea Bam @it )
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{c) What were the factors that led to the
decline of traditional industries in
India?

TG ARG ST T PRI
& wfee 2

(d) Discuss the features of the Permanent
Settlement in Bengal. What were its
impacts on the landlords, peasants and
the Government?

o ol vfda aPBrar  sgesa
4| YA, P W GAPAA 89T 3R
AN B wifee 2

(e) Discuss the significance of the Peasant
Uprising in India in the period under
the East India Company.
3B W @RI TS SRS Wi ca
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() “The Revolt of 1857 can be called as the
first war of India’s independence.” Do
you agree? Give reasons.

“sveq 5 R oRet T8O aew 39
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Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7

&1 =15 37 @bt IS Ty i

(a) What was a Farman?

B W [ 2

(b) When did the Sannyasi Rebellion take
place? ' :

TR Rear @R e e 2

{c) "Who was the first Indian ruler to sign
the Subsidiary Alliance?

T A P Tl I AR oRdh
AP I IR 2
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(2)

(d) When was the Treaty of Seringapatam
signed?

oG A e FrafRe e 2

' (e} Mention the Act that ended the trade
monopoly of the East India Company in
India.

TRAIHS 3T ;W @rNAN FRA IPRR
A ORI 5w SeEY 4

() Who was U. Tirot Sing?
. fove Br @1 wfeer 2

(g9 Who is the author of the book,
The Indian War of Independence, 18577

The Indian War of Independence, 1857
AR TR T 2

. Answer the following in brief : 2x4=8
T A v Tea fn
(@) Mention two provisions of the
~ Regulating Act.
‘REER @31 Y51 76 Ty 341

(p) Name two States brought under the
Doctrine of Lapse. .
TR A W e I o
1 fora
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(3)

(c) What was the Dual System of
administration in Bengal?

IR 0TS AP A7 WG ¥ onifee 2

(d) Mention two provisions of the Treaty of
Sagauli.
sefer pied 41 56 e 41

Write short notes on any three of the
following : 5x3=15
Tore fraaEd & @ bR soime 53 Gt forl -
(a) Subsidiary Alliance
Fq vl S
(b) Commercialization of Agriculture
R afdEa
{c) Third Battle of Panipat
e o 7=
(d) The Santhal Rebellion
wider Rearz
(e Bahadur Shah Jafar
YA YR &1
Answer any three of the following : 10x3=30
oS I R i ffbR Tt fora -

(a) Compare the significance of the Battle of
Plassey and Buxar in the context of
foundation of British Rule in India.
eree Btk 1P R cwae =M 17 e
A T4 SIS Tl 3997 |
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